
 

 

 

 

 

 

 

 

 

 

Systèmes à plusieurs degrés de liberté 

 

 

 

 

 

 

 

 

 

  

 

 



 

 

 

 

 

 

 

 

 

 

5.1 Types de couplage  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

(Couplage élastique) 
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5.2.3 cas particulier de deux oscillateurs identiques  

 

 

 

 

 

On pose : 
𝐴11

𝐴21
=

𝐴1(1)

𝐴2(1)
= 𝜇1 et  

𝐴12

𝐴22
=

𝐴1(2)

𝐴2(2)
= 𝜇2  

 

 

 

 

𝑘0 = 𝐾  

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 


